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Q.1 Choose the correctanswer for aach from the given options:
] Davice which controls the temparaturo by wining heating and cooling systems or
oll 15 alled,;
(0) Thermoatato (o) Tharmometer (¢} Tharmocouple
() Nonn of (henn
(I} Unitofelactrometive force ls:
(a) Newton (b) Eleatron voit (o) Vol (d) Kilo watt hour
(i) Pasition is an anil-particle of;
(a)Eloctron (b) Proton {c) Nuulian (d) Photon
(iv)  Inatrument used to datact small surrent [ callod)
(a)Ammater (o)Voltmeter (o) Galvanomatar  (d)Ohm madar
(v)  Thecosfiicient of voluem expansicn of a material Is8x 10k, the cosfficient of linea
expansion is:
(@)ex10*k? (b)ax1e7k™ (c)2x10*x™ (d)1x107R"
(v}  During negative beta decay, chargs numbar:
(@) Increases by one  (b) Dacreases by one (¢) Remains same
(d) Not defined
(vl Anelectron of rest mass energy 940 MeV has a total energy of 1175 MaV., ls kinetk
energy Is:
(8) 1175 MaV {b) 940 MeV (6) 706 MaV (d) 235 MeV
(Vi) Plarks constant has the same unit as;
(@} Linear momantum (b)Angular momarium
{0)Force (d) Enorgy
(ix)  Ifthetemparature of sink decreasas, tha afficlency of a Carnot angine:
(a) Increase (b) Decrease (0) Remalng same
(d) 18t Incroasos and thon decreases
(x)  Xeray photon colidan with an alactron at rest, the fraquency of scatterod photon,
(a) Increases (h) Dacreasas (o) Remainssame  (d) None o
these
(xl)  Twoeapooion of capncitanca 2C and C respecitvaly are connected in series,
there aquivalent capaditance !
| (n)2C13 (hpacs2 (6) G2 (d)2G
(xify  When Pi-Junction working In reversed béas, the depletion reglon:
r (a) Incraase (b) Decreases (c) Remains same
| {d) Nona of these
{xlly  Aphoton of frequency “v* has a momentum; %
\ (&) 2 ) 2 @) (kg
A ok A
. NJ
xiv)  Tha thermodynamic process inwhich volume of 8 system remains eonmn@llw
(n)hmrmu (b)Adiabatic {c) Isobaric (d) Isochorie,
xv) r 'drommoonulntd w IC: 15
(a)G"Sx ¢ (b)62bx10 (0)5 25X 10T (g)626%10™"
xvl)  Ifthe eross-snctional area of a conductor multiplled by 4, resistance of conductor,
(o) Increase 16times  (b) Increased timas  (c)Decreasoto 11 (d) Docreaco
10 1/16
xvil)  Aforca of 0.01 N Is exerted on a charge of 1.2 x 10+ C at @ certaln point, the electric
field ata pointis: ;
(A) 12x1u'y /T (byudx1u’w {e}Bax10'n /o
(d) Baxi0%m /e « -
Sootion B (Bhort Anower)
Vote: Answer any EIGHT of tha following questions Fach question carries 05
narks.,
22 Show that co-efficient of linear expansion is one third of the co-efficient of volume
exapansion.
A3 Howmany electrons should be removed from ood\ofmozwoaknm:phomeacnd
10 grams, so thal electrostitic repulsion bebdmoodbyomtwlomlfmoe
24 What happes to the temperature of a room in which an air conditianer is left running
onatalbe in the middie of the room.
A5 Find the velocity acquired by an electron In falling through a potential difference of
2000 voliu,
26 Explain why doos the resistance of n conductor incroase with the rise in
temperalure.
ar Amcunoularuroﬂron!embyaocnomuoetlonmdln”olomwhntbtho

resittance of the bar, whaeo resistivity for lomis 1.1 x 10-7 2

Define honry and escribe self Induction with the holp of diagram,

To covert galavanomiter into an ammater, what do we noed to do? Explain.

In the Inerial frame of u pendulum the time perlod is messured 10 be 3 seconds,
What vill be period of pendulum for an obesrver moving ot 8 speed of 0.95 C with
rospect of the pandulum?

Whiy it in more difficult to stan o Fusion reaction than that of Fiusion reaction?
Acapacitor of 100 pF is chargod 1o o potenlial differance of 50 volts, Ity plates ure

hen connwcted din paralleels to another capacitor and i s found that the potential

difference betwean i1s plates falis to 35 volts, What Is the capacitance of the second

capacttor?
Find U wave length of the radiation that is emitted when a hydrogen atom
undacgoee 3 raneition from staten= 3ton =1, whan R = 1.0974 x 10 /m

Section-C (Descripliye Answer)

. Answor any TWO of the following questions.

{a) Defina molar specific heat at constant pressure and constent voluem and show
thatCp-Cv=R.
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Dotormine farce on a ourrent camying conduetor i uniform mugretic field.

(a) Explain photoslactric effect on the basie of quantum theary and ferlve Einsteln’a
photoslectric equation,

Using Bohr's theory of atomic siructure derve the axpression of radius of nth orbit of
hydrogen atom.

Write notas on any TWO of the following:

{l) Colamb's Law (1) Tariod

(Hll) Effact of temparature on reskstance (Iv) Radio-Activity




